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THE EARTH IS WARM, THE SUN'S
ABLAZE,

IT IS TIME OF CAREFREE DAYS;:
AND BEES ABUZZ THAT CHANCE
TO PASS
MAY SEE ME SNOOZING IN THE
GRASS

Dear Parents,
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We all stand at the threshold of an extraordinary summer -
the summer of 2023! It is summer vacation time again, a time
to relax as well as fruitfully occupy the children in various

scholastic and co-scholastic areas. Summer Vacation is the
best time to explore and create memories and acquire new
skills. To create a well-rounded holiday experience and engage
our little ones in some creative work, we have put together
some interesting activities which the children will enjoy doing.
This would encourage in-depth learning, strengthen concepts
and prepare ground for improved academic output. As parents,
kindly motivate and lend support to your children and ensure
that they complete the given work well-in-time and to the
best of their ability. Your encouragement can actually make a
huge difference to the ultimate learning outcome of these
projects. We would be happy if parents encourage children to
work on their own.

Happy Holidays!
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S: Q1. The Road Not Taken’ is a biographical poem. Therefore, some personal biographical
\ information is relevant for the deeper understanding of the poem we have read. Go to
www.encarta.com and complete the following worksheet about Robert Frost.

a) What “momentous decision” was made by Frost in 19127
b) How old was he when took that decision?

c) Why was it so difficult to take that decision? Think and give more than one reason.

T T

d) Was the “road” taken by Frost an easy one “to travel’?

e) Do you think he wrote “The Road Not Taken” before sailing from the USA to England or after?
Can you quote a line or two from the poem that can support your answer?

>

f) Do you think Frost finally became popular in America as a poet?

Q2. While the country has made significant progress in improving adult literacy over the
years, it continues to be home to 313 million illiterate people; 59 percent of them are
women. The story ‘How | Taught My Grandmother to Read’ showcases a young girl
helping her unlettered grandmother grow self-sufficient. The story is also a subtle eye-
opener for the youth that if they realise their moral obligation, they can take the country to
greater heights.

Pen down your thoughts in the form of ARTICLE on the topic” How the youth brigade of
the nation can help alleviate Adult llliteracy”.

Q3. This poem describes the journey of a stream from its place of origin to the river that it
joins. The poem has been written in the form of an autobiography where the brook relates
its experiences as it flows towards the river. In Literature, such a device by which an in
animate object is made to appear as a living creature is called Personification. Just as the
brook has been personified in this poem, write a poem on any inanimate object making it
come alive. You could begin with a poem of 6-8 lines. The poem should have a message.
Try to maintain a rhyme scheme to enhance the beauty of the poem. You could write a
poem on objects such as a candle/a tree arock/a desert etc.

Q4. Complete the given worksheet.

WORKSHEET

Q1. Rearrange the following words or phrases to make meaningful sentences:
. Bimla/ her/ husband/ that/ told/ a coward/ he/ was
. hel/ my letter/ received/ must have/ by now
. stories/ the/ wrote/ few/ that he/ romantic/ very/ were
. you/ would/ when/ meet her/ she /know/ did not
. English/ whom/ by/ you/ had/ been/taught?

. my winning a medal/ | told him/ until/ about/ not known/ he had

§:. Class — IX / Page No-2/ Session (2023-24)

B e e e s s s A s A A A A



S e S R T
7. on my bicycle/ to/ go/ 1 used to/ my school
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8. boy/ each/ was punished/ of the class/ yesterday

9. how/you had/ at the interview/ done/ us/ let/ know

10.the class/ at once/ ordered/ you are/ to leave

Q2. Thereis an error in each of the following lines. Write the incorrect word and the correct
word in the given space. The first one has been done as an example:

Incorrect Correct

Intelligence is praised to one and all.

A R R R R R R R

J We say that intelligence means

Even as Monu was about to go out to play, his grandmother asked him (a)

Gently kicking his ball, a happy looking Monu replied (b) . This surprised

the grandmother for she thought that Shamu had been his best friend. She asked
. With a smile on his face, Monu replied that if he beat him, he didn't

beat him back

2. Customer: These caps don't fit me

Tailor: Wear them on the tip of your fingers. They'll fit you.

g Class — 1X / Page No-3/ Session (2023-24)
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The customer complained (a)

The tailor told him (b)

Q4. Fill in the blanks with the correct form of the verbs given in brackets.
{ 1. Once when | (a) (cross) the road, | (b)

small boy who (c) (look) quite lost. | (d)

(feel) very sorry to see the pathetic condition of the
(be) shabbily dressed and were running all
(eat) a banana. She (d)

(get) it from her father. Her father (e) (be) a poor

labourer. Her mother always (f) (remain) sick.

NOTE - DO THE GIVEN HOLIDAY HOMEOWORK ON A4 SIZE SHEETS

MATHEMATICS

General Instructions:

. This worksheet is a part of Maths Portfolio and must be attached in the Maths Portfolio File.

. This worksheet must be written on ruled A4 sheets.
. This worksheet consists of 40 questions in total.

. Each question is compulsory.

. Questions 31 - 40 are case study based questions.

Q1. If x = 3 +2+/2, find out whether x —i is rational or irrational.

Q2. Rationalise: %
N

g Class — IX / Page No-4/ Session (2023-24)
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Q3. Express 1.363636... in the form of rational number.
Q4. Simplify the following:

(@) (8-5) (8 ++/5) © (10 +/3)(6 + v2)
(b) (V3 +V11)° + (V3 - V11)°

Q 5. Find the area of a right-angled triangle whose base is 12 cm and height is 5 cm.
Q6. Simplify the following:

A (603 5
€ (Dix (21)3

Q7. Find the area of an equilateral triangle with side 10 cm.

S e e e

Q8. Ifx=——, find the value of X% + — .
3-2v2 X

Q9. What is the perpendicular distance of the point (-7, 6) from the x-axis? What is its
perpendicular distance from the y-axis?
Q10. If the perimeter of equilateral triangle is 90 cm. Find its area.

Q11. Find the area of a triangle, two sides of which are 8 cm and 11 cm and the perimeter is 32 cm.
Q12. What is the area of the triangle formed by joining the points (8, 0), (12, 0), and (12, 4)?
Q13. In which quadrant or on which axis do these points lie?
@M GB-9) (i)  (-6,0) (iii) (-5, 8) (iv) (0,\3)
Q14. A triangular park ABC has sides 120m, 80m and 50m. A gardener Reeta has to put a fence all
around it and also plant grass inside. How much area does she need to plant? Find the cost of

fencing it with barbed wire at the rate of Rs.20 per metre leaving a space 3m wide for a gate on

one side.

Q15. Find the coordinates marked on the Cartesian Plane:

Q16. Find ‘X", if 2*7 ; x 54 = 1250,
Q 17. Evaluate: (V5 + V2)? + (V8 — /5)?

Class — IX / Page No-5/ Session (2023-24)
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Q 18. Let ‘@’ be a non-zero rational number and ‘b’ be an irrational number. Is‘ab’ necessarily an

irrational? Justify your answer with example.

Q19. Find the cost of laying grass in a triangular field of sides 50 m, 65 m and 65 m at the rate
of Rs 7 per m?.

Q 20. Let x and y be a rational and an irrational number. Is x + y necessarily anirrational number?

Give an example in support of your answer.

Q 21. If x* =y, y* = zand z° = x, then prove that abc = 1.

Q22. The sides of a triangular plot are in the ratio of 6 : 7 : 8 and its perimeter is 420 m. Find its

area.

Q 23. Find the values of x and y, if two ordered pairs (x — 3, — 6) and (4, x + y)are equal.

S

Q26. A point lies on x-axis at a distance of 9 units from y-axis. What are itscoordinates? What will
be the coordinates of a point, if it lies on y-axis at a distance of -9 units from x-axis?

Q27. If we multiply or divide both sides of a linear equation with a non-zeronumber, then what
will happen to the solution of the linear equation?

Q28. The cost of a table is 100 more than half the cost of a chair. Write thisstatement as a linear
q Class — IX / Page No-6/ Session (2023-24)
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equation in two variables.
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Q29. The sides of a triangular flower bed are 5 m, 8 m and 11 m. Find the area of the flower bed.

et

Q30. Find the cost of levelling the ground in the form of a triangle having the sides 51 m, 37 m and

20 m at the rate of Rs3 per m?.

CASE STUDY

lunit=1cm
on both axes

Q31. The sketch of a flag post is created on graph paper as

shown. Using the details given, answer the following questions.

(1) Find the coordinates of point A.

(i) Find the point whose x and ycoordinates are same.
(iii) Length of AC and BC are

(iv) Find the length of BD.

A A A A AR A AR AP A AR A AR A AR DAL

Q32. Claudia has to reach her office every day at 10:00 am. On the way to her office, she

drops her son at school. Now, the location of Claudia’s

house, her son’s school and her office are represented by 1 unit=1km
4 on both axes

the map below. Using thedetails given, answer the O« Office

following questions.

(i) Find the coordinates of Claudia’s home.

(i) Find the distance between Claudia’s home and Home—s H] o2

L 1 1 4 L 3
Ll Ll Ll Ll L

her son’s school. Ol 1 2 3 a

(ili)  Find the distance between Claudia’s office and her son’s school.
(iv)  Find the coordinates of Claudia’s son’s school.
Q33. Aditya is a Class IX student residing in a village. One day, he went to acity Hospital along

with his grandfather for general checkup. From there he visited three places School, Library and

Police Station.

Class — IX / Page No-7/ Session (2023-24)
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After returning to his village, he plotted a graph by taking Hospital as origin and marked three

places on the graph as per his direction of movement and distance. The graphis shown below:

(i) What are the coordinates of school?

(if) What is the distance between school and police station?
(iii) What are the coordinates of library?

Q34. To examine the preparation of class 9 students on topic ‘Number System’,
Mathematics teachers write two numbers on blackboard, and asks few questions to

students. Based on the above information, answer thefollowing questions.
(i) Write the decimal form of 12—1
(i) Write the E form of 0.383838.....

(iii)Write the decimal expansion of 12—1 :

Q 35. Real numbers are broadly classified as rational and irrational numbers. Rational numbers

\
¢
&.,
:
:
:
:
:
:
:
b
)
:
¢
)
:
)
)
:
)
)

are the ones that can be expressed in Eform, where g is not equal to zero and p and g are co-

ST

prime. Whereas irrational numbers can’t be expressed in £ from. The decimal expansion of a
q

rational number can either be recurring or terminating. But the decimal expansion of an
irrational number is neither recurring nor terminating.

Based on the given information, answer the following questions:

(i) The decimal expansion of % IS

(ii) Convert 1.235235235.... in g form.

(ii1) Find three irrational numbers between 0.45454545.... and0.54545454.. ..

q Class — IX / Page No-8/ Session (2023-24)
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Q36. A test consists of ‘“True’ or ‘False’ questions. One mark is awarded for every correct answer

> o>

while %2 mark is deducted for every wrong answer. A student knew answers to some of the
guestions. Rest of the questions he attempted by guessing. He answered 120 questions and got 90

marks.

(i) Number of total questions answered by a student can be representedalgebraically as

(ii) If all the questions he attempted by guessing were wrong, then the totalMarks obtained

by a student can be represented algebraically as

(iii) If all the questions he attempted by guessing were wrong and answered80

S S S S S S S D D

correctly, then how many marks he got?

A

(iv) If answer to all the questions he attempted by guessing were wrong, thenhow many

S

questions should be answered correctly to score 93 marks?

> AE

Q 37. Today is Saima’s birthday. Mama is making a beautiful cake for her. Saima wants to learn
from her mother. Mother is very happy. She takes a cupand some eggs. She said the number of
eggs needed to make a cake varies directly as the number of cups of flour used. She takes 2 cups
of flour and halfa dozen eggs. As number of guest’s increase, the number of eggs and cups of

flour increase. Take ‘X’ as the number of cups of flour used and ‘y’ as the number of eggs.

Q) Write an equation for the above relationship.
(i)  How many eggs are needed if you take 3 cups of flours?

(i) How many cups of flour needed if Saima takes 21 eggs?

&3
%3
)
)
)
)
)
t

Q38. Meera bought some apples at the rate of Rs. 100 per kg and some avocados at the rate of
Rs.200 per kg. If she bought 'x* kgs. of apple and 'y'kgs. of avocado, then answer the following

questions.

(i)  If the total cost incurred to Meera after buying 'x' kgs of apple and 'y' kgs of avocado is
Rs.1000, form an equation.

(i1) If Meera bought 3kgs of apple and ‘y’ kgs of avocado for Rs. 500, find the value of ‘y’.

(iii) If Meera bought ‘x” kgs of apple and 2 kgs of avocado for Rs. 800, find the value of

‘X,

R e R e R e e R T R S R R R e R e R e
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Q39. Peter, Kevin James, Reeta and Veena were students of Class 9th B at Govt. Sr Sec School,
Sector 5, Gurgaon. Once the teacher told Peter to think a number x and to Kevin to think another
number y so that the difference of the numbers is 10 (x > y). Now the teacher asked James to add
double of Peter's number and that three times of Kevin's number, the total was found 120.

Reeta just entered in the class. The teacher said Reeta to form the 1% equation with two variables x

and y. Now Veena just entered the class so the teacher told her to form 2" equation with two

variables x and y. Now teacher told Reeta to find the values of x and y. Peter and Kevin were told
to verify the numbers x and y.

(i)  What is the equation formed by Reeta?

(i)  What is the equation formed by Veena?

(iii) Which number did Peter think?

(iv) Which number did Kelvin think?

S e e e

Q40. There is a Diwali celebration in the DPS school Janakpuri New Delhi. Girls

are asked to prepare Rangoli in a triangular shape. They made a rangoli in the

B<— 28cm —> C

In fig, R is mid-point of AB and RQ || BC then find the value of AQ.

In fig R and Q are mid-points of AB and AC respectively. Find the length of RQ.
If Garland is to be placed along the side of AQPR which is formed by joining
midpoint, what is the length of garland? Also find the difference between the
perimeter (AABC) and perimeter (APQR).

Find the area of ARQP.

Class — 1X / Page No-10/ Session (2023-24)
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ROLL NO. ACTIVITY

1-10 Mathematical Painting using 2-D Figures. (on chart)

10-20 Chart on Number System

IR I R I B~ B D P

20-30 Chart on Algebraic Identities

30-40 Chart on Euclid’s Axioms and Postulates

e S T S

40 — ABOVE | To prepare wind chimes by using Mathematical shapes.

AT

COORDINATE GEOMETRY ART (for all students)

SCIENCE

A car starts from rest and moves along the x-axis with constant acceleration
5m/s2 for 8 seconds. If it then continues with constant velocity, what distance will
the car cover in 12 seconds since it started from the rest?

A body starts to slide over a horizontal surface with an initial velocity of 0.5
m/s. Due to friction, its velocity decreases at the rate of 0.05 m/s®. How muchtime
will it take for the body to stop?

gf Class — IX / Page No-11/ Session (2023-24)
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A train starting from the rest moves with a uniform acceleration of 0.2 m/s” for 5
minutes. Calculate the speed acquired and the distance travelled in this time.

4. The graph in below figure shows the positions of a body at differenttimes.
Calculate the speed of the body as it moves from (i) A to B (ii) B to C and (iii) C to D.

Y

Distances (cm)

= N W A U0 N

A

2 5
——> time(s)

o

5. The velocity time graph of an ascending passenger lift is given below. What is
the acceleration of the lift: (i) during the first two seconds (ii) between 2" and 10"
second (iii) during the last two seconds.

Y

Velocity (m/s)

]
P O

N
1

4 10 12
—> time(s)

6. A body is accelerating at a constant rate of 10m/s®. If the body starts from
rest, how much distance will it cover in 2 seconds?

An object undergoes an acceleration of 8m/s? starting from rest. Find the
% distance travelled in 1second.

A bus was moving with a speed of 54 km/h. On applying brakes, it stopped in8
seconds. Calculate the acceleration and the distance travelled before stopping.

A motor cycle moving with a speed of 5 m/s is subjected to an acceleration of
0.2 m/s®. Calculate the speed of the motor cycle after 10 seconds and the
distance travelled in this time.
10. The brakes applied to a car produce an acceleration of 6 m/s® in the opposite

direction to the motion. If the car takes 2 seconds to stop after the applicationof
brakes, calculate the distance it travels during this time.

11. Where are chromosomes located in a cell? What are they composed of?
What information they contain?

12. Distinguish between:
Class — IX / Page No-12/ Session (2023-24)
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Y () Mitosis and Meiosis (i) Nucleus and Nucleolus

13. Draw labelled and beautiful charts:
() Roll No 01 —10: Plant Cell/Animal Cell
(i) Roll No 11 — 20 Mitochondria/Chloroplast
(i) Roll No 21 —25: Golgi Body /Endoplasmic Reticulum
(iv) Roll No 26 — 30: Different types of Plant Tissues
(v) Roll No 31 — 35: Different types of Animal Tissues
(vi) Roll No 36 — 41: Cell Division

Define sublimation. Name any two sublime substances.

e Y e S e

Explain the factors affecting the rate of evaporation.
Define latent heat of fusion and latent heat of vapourisation.

convert the following temperature:
(a) 25 degree Celsius to Kelvin scale b) 300 Kelvin to degree Celsius

Give reason for the following:
Naphthalene balls disappeared after sometime.
(b) steam causes more severe burn than boiling water at the same temperature.

NOTE — HOLIDAY HOMEWORK SHOULD BE DONE ON A4 SIZE SHEETS.

SOCIAL SCIENCE

‘| Note : Do the assignment in loose sheets.
QL. Define the Preamble.
Q2. What is a Constitution?
Q3. Why is constitution considered the supreme law?
Q4. Who was the chairman of the constituent assembly?
Q5. What does “Socialist” in a democratic constitution mean?
Q6. How was the constituent assembly formed?
Q7. Why is India considered as a sovereign country?
Q8. When did the Indian constitution come into force?
Q9. Name the chairman of the constitution drafting committee of India.
Q10. Which countries constitutional features inspired Indian constitution makers?

g Class — IX / Page No-13/ Session (2023-24)
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Note : Do the assignment in loose sheets

Q1. Who introduced Reign of terror and where?

Q2. Which theory was proposed by Montesquieu?

Q3. Who proposed the social contract theory?

Q4. What did the French Revolution of 1789 stand for?

Q5. What did the fall of Bastille signify?

Q6. What is a Guillotine?

Q7. Who was the leader of the Jacobian Club?

Q8. How was the French society organised before the revolution of 1789?
Q9. Describe the incidents that led to the storming of the Bastille.
Q10. How was the church responsible for the French Revolution.

S T

INFORMATION TECHNOLOGY(402)

A

Note:
'\ Do Question No 1 to 4 in your Class Note book and Question No 5 to 8 in your
Practical file .

Visit Indian government websites, such as the official web portal of Department of School
Education, MHRD, Government of India. Make a list of all the valuable information and the
services you could obtain yourself.

Make a list of e-government services that are provided by other countries.

Visit the various websites and list the areas where ICT is used.
Multiple choice questions

Which of the following is the default extension of the writer file?

(a). obt (b) .doc (c) .odt (d) .docx

Which of the following technique selects a sentence in Writer?

(a) Single click (Pressing left button of mouse) (b) Double Click

(c) Triple Click (d) None of the above
Which of the following is a shortcut key to Redo any operation?

(ad CTRL+R (b) CTRL+Y (c) CTRL + X (dCTRL+Z

To find a word in a document we can use which of the following function key?

(a) F5 key (b) F8 key (c) Fl key (d) None of the above (v)
Which of following is not a component of the Office Suite?

(a) Writer (b) Impress (c) Internet Explorer (d) Base

g Class — IX / Page No-14/ Session (2023-24)
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The most widely used word processing software in late 1970s
was
(a) Word Perfect  (b) Word (c) Word Star (d) Writer

We can change the mistakes noticed in which of the following?

(a) Electronic typewriter (b) Word processor software

(c) Simple typewriter (d) Both (a) and (b)

Header and Footer are available in which of the following menus?

(a) File Menu (b) Insert Menu (c) View Menu (d) Edit Menu
To hide or view ruler we should go to which of the following menus?

(a) Tools Menu (b) Insert Menu (c) View Menu (d) Edit Menu
To check the grammar, we should go to which of the following menus?

(a) Tools Menu (b) Insert Menu (c) View Menu (d) Edit Menu

: Do all the below questions in your practical file

Open Ms-Word and perform the following:

1. Enter the text and format the paragraphs as shown in Table in Column A.
2. Format it again as shown in Column B . Save and close the document.

3. Paste the printout of the same in your Practical file

Column A Column B

What is a computer?

A computer is an electronic device that What is a computer?

manipulates informationor data. It has the A computer is an electronic device that

ability to store, retrieve, and process data. manipulates information or data. It has
You can use a computer to type document, the ability to store, retrieve, and process
send email, and browse the web. data.

You can also use it to handle spreadsheets, You can use a computer to

accounting database, management, documents send email and browse the Web.
presentations, games, and more.

Practice to assign normal bullets and numbering to the list items as shown in figure below.
Create a new document and enter the text on Computer Memory. Assign the variety of
bullets and numbering as shown in the figure. Paste the printout of the same in your
Practical file

q Class — 1X / Page No-15/ Session (2023-24)
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Computer Memory is Categorized in to two types:

1 Primary Memory [ Storage Capacity
1.1: Bullet List Bit

1.2. ROM Number N mipnle

2 Secondary Memory = Byte
2.1. Hard Disk -  Megabyte
2.2. Pen drive .- Gigabyte
2.3.. CD/DVD

2.4. \Memory Card Cloud Storage
a) Google Drive

b) Drop Box

Multilevel List

Create a table in MS- Word as shown in the figure below. Save it in your Desktop . Paste
the printout of the same in your Practical file

=

Time Table Class 9
4

10:20to | 10:40to | 11:20to | 12:10 to | 12:50 to
10:40 11:20 12:00 12:50 13:30
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Q8 Open MS-WORD and perform the following

1. Prepare your page as follows.

Size — A4

Orientation |Margins — 2’ from left and right
Landscape 1.5’ from top and bottom

Use Page Setup’ Dialogue Box. 2. Use Bold, Italic,
Underline, Change Case, Font Color and Format the
text as shown below and save it as Activity 3. Close
the document.

REPORT

Field Visit to IT Job Fair

We visited the IT Job Fair, 2018 held at Kasturchand Parlk,
Nagpur on 5th July. It was quite knowledgeable experience
for us. We came to know about the various information in IT

Sector.

The Information Technology & Information Technology

Enabled

Services (IT-ITeS) sector is a field which is

undergoing rapid evolution and is changing the shape of
Indian business standards. This sector includes software
development, consultancies, software management, online
services and Business Process Outsourcing (BPO).
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. The Jarawas are recognised as an Adivasi group in India. They have inhabited the islands for
several thousand years along with other indigenous Andamanese people. But now they are running
under the risk of extinction as poaching, tourism and growing modernism is threatening their
survival. Prepare a project on "The Jarawa Tribe' highlighting their history, lifestyle, culture, festival
and food. Suggest some ways to bring them under the main stream without exploiting their culture.

Do as directed:

(a) Prepare a bar graph showing comparison of population density of the given years: 2001, 2011
and 2021.

(b) Prepare a line chart showing male : female ratio.
(c) Prepare a pie chart or bar graph demonstrating population of rural and urban area

. Write an analytical paragraph based on the above graphical representations and compare the literacy
rate among males and females and also comment upon the factors that influence the population size
of urban and rural areas.

Find out about the main crops grown in Andaman and Nicobar Islands and Lakshadweep. Also,
comment upon their growing season and specific agricultural practices.

Make a brief project on food choices, spoken languages, climatic conditions, ornaments and dresses
preferred by the people residing in Andaman and Nicobar Islands
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